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Ch 4 Review



ex: Expand. Simplify if possible.

o (xz+l)4 ’{‘]Dﬁ,ﬂ\
g9 81)7223

H}ng(;&_B B g’“ %\O%qﬂf\glﬁng




== ex: Mara receives a 10% raise each year for 3
consecutive years. What was her starting salary if she

currently makes s54,000.
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The domain of the function f(x)=log, (5x+3)-2 over the set of real numbers is

5><+?b7o
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| @520 is 125*, then the value of x is
25 Ee

o (A)-3 (B)S (C)-5 @ (E) 2°
| 2K
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ex: Sketch. State the domain and range in interval notation.
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ex: Solve.

log,(x+2)+ log,(x-2)=1log,(3x-10)

J0a. (X-<4\= loa, (3x-Io
& %( ) GrD% )

d Xl“qi-gx—l()
X“3X+CQ:©



ex: Evaluate.




™ ex: Solve. Round to three decimal places.

2,1--] - 3.1'+l



Which of the following functions is exponential?
W) f(x)=b"  ®) f(x)=x (© f(x)=x" (©) f(x)=x

y=a-b’



ex: Evaluate.



(A) %} ©) ’:L"%;f (D) 3Inx’ (E)@xz%x’>
><
5/% lo% ,L

Slnx 96&



ex: If

x=log,3 y=log,5

Rewrite the expression in terms of x and y.

log,0.9
09,75 = log,T — 03, 1D
= 2lo8,? ”QDQ D \’062 7’)

A=Y



What is the percent growth rate of M (1) =1.25-1.049’
(A)49%  (B)23% (C)4.9% (D) 2.3% (E) 1.23%



2. (-3In2-1)=

1 3 1 1
(A) =7 In(8e) (B) —In(8e) ©-sm2 @)-7 ®g



ex: Find the x and y intercepts, if possible.

f(x)=3logsx-6

0 =3lpa % -0
9\:{@% X
5 57



log, 64 =

(A)Slog,2  (B) (log,8)" [ (O) % (D) 2log,32  (E) '°3964




logl2=
(A)3log4 @1@3 +log4 (C) 4log3 (D) log3-log4 (E) 2log6



Which of the following is the inverse of f(x)=2.3"?
(A) '(x)=log3(§) (B) f"(x}=log3(§] (©) f(x)=2log, x
(D) f'(x)=3log,x (B) f'(x)=0.5log,x

Y £69=2-37



ex: Condense. Simplify if possible.

In(x* -4)-In(x+2)-3Iny

I X’;ff\




What point do all functions of the form f(x)=54" have in common?
(A) (L) B)(,0) (© (0,1) (D)(0,0) (E)(-1,-1)



ex: Solve.

3.82*_31:8-16=0 Vs

N 7%
30 - vla—lle=0



ex: Evaluate.

7log-, 15-log,5

725973

E



' ex: Solve. Round to three decimal places.

352 44=5

K=
e )p};:(? X: )31
X%—”(‘OQ{‘%—{- b3



ex: Sketch. State the domain and range in interval notation.

f(x)= 5—310g3(x—4)



= ex: Jack invests $10,000 in an account for 4 years and
& currently has $12,345. If the interest is compounded
continuously what interst rate was used? Round to three
decimal places.




If 3" =9 and 3" =9 then xy equals
(A)6 (B0 (©)s5s D72 (E)I



